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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS R

07:20 283 150.0 25. 83 FH| FnHA@07:20 KRFIEF CRAERS)
08:00 283 150.0 25. 83 FH| FiHA@08:00 KENFEF (FAFERE)
08:40 283 150.0 25. 83 PR hHR@08:40 KREIZHF (RALER)
09:40 283 150.0 25. 83 FR| FHA@09:40 KRENFZF (KRFAIEES)
10:30 283 150.0 25. 83 BH| FhHA@10:30 KENF2F (KRAfEREE)
11:15 283 150.0 25. 83 FR| FhHR@11:15 RHMIEHF (RAKZESR)
11:55 283 150.0 25. 83 FR| FHA@11:55 KRENFZF (KRFAEEES)
12:35 283 150.0 25. 83 FR| FHA@12:35 REFZF (RAARES)
13:15 283 150.0 25. 83 M| FiHRe13:15 RHMIEHF (CRAKLESR)
13:55 283 150.0 25. 83 f|  FHEA@13:55 KRENFZF (KRFAEES)
14:40 283 150. 0 25. 83 M| FiHRe14:40 KREEF (RAERBE)
15:30 283 150.0 25. 83 M|  FiHie15:30 RFEF (KAERKSE)
16:25 283 150.0 25. 83 M| FiHfe16:25 REIEF (REHERSS)
23t 3679.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

#H[EKECE (2087.0 vs 4097.0) d 5
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P3-7

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:05 278 150.0 25. 83 FH| 1RRi%@06:05 B (FRFAERESE)
07:00 278 150.0 25. 83 FA| 1BRi%@07:00 B3h (KAEREEE)
08:10 278 150.0 25. 83 FH| 1BRi&@08:10 Bzh (RAEREIEE)
09:30 278 150.0 25. 83 FH| 1RRi%@09:30 Bz (FRFAERESE)
10:40 278 150.0 25. 83 FA| 1BRi%@10:40 B3h (KRAERSE)
11:35 278 150.0 25. 83 FA| {Ri%@11:35 Bz CGRAERESE)
12:25 278 150.0 25. 83 FA| 1Bike12:25 B3 (KRAHEREE)
13:15 278 150.0 25. 83 PH| {Ri%e13:15 Bl (RAERESE)
14:10 278 150.0 25. 83 FA| {Ri%@14:10 Bz CGRAERE)
15:25 278 150.0 25. 83 FE| 1Ri&@15:25 Bz (RS
16:55 278 150.0 25. 83 FA| {Ri%@16:55 Bz (GRAEEE)
23t+]3058.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

FHERECE (2220.0 vs 4193.0) 35
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:30 273 150.0 25. 83 S| {Ri%@06:30 B3 (KRAMERSE)
07:15 273 150. 0 25. 83 E BRi&e07:15 Bz (GRAERESE)
08:30 273 150.0 25. 83 F  BR1%e08:30 BE1 (RAERE)
09:40 273 150.0 25.83 (£ =| 1Ri%@09:40 Bz (RAEAERSE)
10:30 273 150. 0 25.83 |Z=| 1BRi&@10:30 Bz (GRAERE)
11:20 273 150.0 25.83 |Z=| {Ri&e11:20 Bz (REERSE)
12:10 273 150.0 25.83 (£ =| 1Rige12:10 B3 (RAERSE)
12:55 273 150.0 25.83 (Z=| {Ri%e12:55 Bz (REAEHSE)
13:35 273 150.0 25. 83 5| {Ri%e13:35 B3 (RAERSE)
14:15 273 150.0 25. 83 = RRiBe14:15 Bz (REAEESE)
15:00 273 150. 0 25. 83 E BRi&e15:00 Bz (GRAEREE)
15:50 273 150.0 25. 83 5| {Ri%e15:50 B3 (RAERSE)
17:05 273 150.0 25. 83 FA| 1BRi&@17:05 B3h (KRAHEEE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

FHERECE (2323.0 vs 4167.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=61 (2025-05-29)

L e e o T e TR e e p L 3000
VI, VBPERV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2640
2300 2200 2205
100 + - 2000
460 593
50 700 40 - 1000
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 & Vi —— ME P30.0
FRV maxM
e s s s e e e e e e e e e e e e e e e e e e -27.5
100 4 ! ! = F25.0
N 11l n
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n
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
2'081 , : 4 3000
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- 1000
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0.4 1
0.2 A

|
| _obs
PPFD_obs

RH
RH_obs
RHo _obs

FRV (ml d-1)
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cumET (ml/plant)
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P3-7

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:40 278 150.0 25. 83 | 1Ri%006:40 B (RFEfRESE)
07:25 278 150. 0 25. 83 E BRi&e07:25 Bzl (GRAEREE)
08:20 278 150.0 25. 83 5| {Ri%@08:20 Bz (FAMERSE)
09:25 278 150.0 25. 83 = RRiB009:25 B (RFAEEE)
10:15 278 150.0 25. 83 =l RRiB010:15 Bzh (REAEEE)
11:00 278 150. 0 25. 83 S {Ri%e11:00 Bz (GRAERSE)
11:45 278 150.0 25. 83 = {Rige11:45 B3 (RAERSE)
12:25 278 150.0 25.83 S| {Rige12:25 B3 (REAERSE)
13:00 278 150. 0 25. 83 E| {Rig@13:00 B3h (RE{ERSE)
13:35 278 150.0 25. 83 F BRige13:35 Bz (GRAERSE)
14:15 278 150.0 25. 83 S| {Rige14:15 B3 (REAERSE)
14:55 278 150. 0 25. 83 E BRige14:55 Bz (GRAERRE)
15:40 278 150.0 25. 83 F BRige15:40 Bz CGRAERESE)
16:35 278 150.0 25. 83 = 1Ri%016:35 B (REAERSE)
21t]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 147.0), AIgEMAF—RE XAH45
BRI\ SEBRIERE147.0 ml.
#[EKECE (2400. 0 vs 4057.0) 35



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=60 (2025-05-28)

L e e o T e TR e e p st L 3000
VI, VPSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685

2200 2300 9205
100 - L 2000
475

FRV (ml d-1)

50 4720 400 - 1000

Warning: lcol [FVI',| "FVO’'] missing

200 ¢ 4300

150_ "275

100 - —25.OEI

-22.5

50 A

1.0 20.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R

07:05 278 150. 0 25.83 |Z=| {Ri%e07:05 Bz (REAEZEHE)
07:45 278 150.0 25.83 |Z=| {Ri&e07:45 Bz (REEZERE)
09:10 278 150.0 25.83 (Z=| {Ri&@09:10 Bz (FRAMERSE)
10:05 278 150. 0 25.83 |Z=| {Ri%e10:05 Bz (REEZEBE)
10:50 278 150.0 25.83 |Z=| 1BRi&@10:50 Bzl (GRAERE)
11:35 278 150.0 25.83 |Z=| {Ri&e11:35 Bz (REERSE)
12:15 278 150.0 25.83 |Z=| {Rige12:15 Bz (REAEZBE)
12:55 278 150.0 25.83 |Z=| {Ri&e12:55 Bz (REEZEBE)
13:30 278 150.0 25. 83 FA| {Ri%@13:30 Bz (GkAEEE)
14:10 278 150.0 25. 83 FA| {Ri%@14:10 Bz CGRAERE)
14:50 278 150.0 25. 83 FA| 1B2i%@14:50 Bzh (RkABIEREE)
15:35 278 150.0 25.83 |Z=| {Ri&e15:35 Bz (REEZEBE)
16:30 278 150.0 25.83 |Z=| {Ri%e16:30 B (REZHE)
23t 3614.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.9

#H[EKRECE (2393.0 vs 3893.0) i d5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=59 (2025-05-27)

L e e o e e e e o e o B roet L 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685
2200 250
100 A 1790 646—2000
1400
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50 20 L 1000
40
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 4 T 430. 0
150_ "275
100 - F25.0
50 A -22.5
1.0 20.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.9 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @63 05:11: ET31731 Fg=2100.0 Ro=414.0 3000
300 A I
1
I —O—e—8 88 200
200 ~ :
1
100 - : 1 _id | L 1000
1
- D0 N0 O
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
200 2n|lZzs| B | B | B | B | B| B | B[ B i 5 5 | B i 5 5 5 i 5 5 5 i 5
. 1
ByEt @D59 19:09: ET=1786 Fg=2250.0 Ro=nan .: [ 2000
200 ~
100 - /' - 1000
118 —
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
200 2o |26 |25 2525|2525 25| B [ 25|25 |25Z25| B | B (25|25 |25 25123525 B i 5
. 1
. . = | = =
ByWoFv @D63 05:11: ET:1646 Fg=1950. 0 Ro=398.0 o o [ 2000
200_ : e
100 - I L l L 1000
1
. o o o ] ——
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
NREZHEIHER S EFHE N E I E N E AN R HE A E T H N AN R E A E R E T E I I E TSN i 5
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1500 -

| _obs
PPFD_obs

MM ® VP

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



25.

25.

25.

24.

24,

25.

25.

25.

25.

25.

25.

25.

25.

24.

22
—o— ME
660 860 1obo
m=585,m FV0=0
—e— ME
4_
2_
0_
8_
6_
5é5 5éo 5é5
m=740,m FV0=0
87 —o— ME
6_
4_
2_
0_
750 755 760
m=885,m FV0=0
—o— ME
4_
2_
0_
8_

885 890 895

22.

22.

22.

22.

22.

21.

25.

25.

25.

25.

24.

25.

25.

25.

25.

25.

25.

25.

25.

m=465, FV0=0

—o— ME

4%0 4;5
m=625,n FV0=0

—o— ME

650 655
m=775,n FV0=0

—o— ME

7é0 7é5
m=915,n FV0=0

775

-o— ME

?
iz
=

915 920 925

23.

23.

23.

23.

22.

25.

25.

25.

25.

24.

25.

25.

25.

25.

25.

25.

25.

25.

25.

m=500, FVO0=0
- ME
6_
4_
2_
o_
8_
500 505 510
m=670,m FV0=0
6_

—o— ME

i

6;5 GéO
m=805,n FV0=0

—o— ME

i

8%0 8%5
m=950,n FV0=0

-o— M_E

955 960

24,

24.

24,

23.

25.

25.

25.

25.

25.

25.

25.

25.

25.

25.

25.

25.

25.

24.

m=535, FV0=0

—o— M_E

5&0 5&5
m=705,n FV0=0

—o— M_E

7%0 7%5
m=840,n FV0=0

—o— M_E

8&5 8%0
m=990,n FV0=0

840

—o— M_E

990 995 1000




41.

41.

40.

40.

44,

43.

43.

42.

42.

45.

44,

44,

43.

m=465, FV0=0

37.5
—o— MW
37.0 A
36. 5 1
36. 0
35.5 A
T T T T T T
600 800 1000 465 470 475
m=585,m FV0=0 m=625,m FV0=0
—— MW —o— MW
5 -
42.0 A
0 .
41.5 A
5 .
41.0 A
0 .
40. 5 A
T T T T T T
585 590 595 625 630 635
m=740,m FV0=0 m=775,m FV0=0
0
- MW 44.04 —O— MW
5 .
43.5 A
0 .
43.0 -
5 .
0 - 42.5 -
740 745 750 775 780 785
m=889,m FV0=0 m=915,m FV0=0
0 - —— M_W 45. 50 - —— M_W
45. 25 A
5 -
45. 00 A
o 44.75 1
44.50 1
5 - 44,25 -

885 890 895

915 920 925

m=500, FV0=0

39.5

—— MW

39.0

38.5

38.0

37.5

500 505 510

m=670,m FVO=0

42.

42.

41.

41.

—— MW

\}

6;5 GéO
m=805,n FV0=0

44,

44,

43.

43.

—— MW

3

81IO 81I5
m=950,n FV0=0

45. 50 ~

45. 25 A

45.00 ~

44.75 ~

44. 50 ~

44. 25 ~

-— MW

B

955 960

41.

40.

40.

39.

43.

42.

42.

44,

44,

43.

45.

45.

44.

44,

44,

44.

m=535, FV0=0
01 —— MW
5 -
0 .
5 .
555 550 555
m=705,m FV0=0
—— MW
0 .
5 .
0 .
765 71'0 71'5
m=840,m FV0=0
—— MW
5 .
0 .
5 .
8;10 8£|15 8€I'>O
m=990,m FV0=0
) —o— MW
0 .
8 .
6 .
4 .
2 .
960 965 10'00




